H & 0l & AHS B Ml A

SA =M A
B XY U oI Al
Chel: AT XA AT (2 X1 TH2 A& AR (o) @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JI= A 15,345,000 14,322,000 1,023,000
Aepg & Fel=2AA 9,637,147 8,797,969 839,178
AT AT AL NAIS (BB RIS XA L AIAF) 9,637,147 8,797,969 839,178
Mol &atgzte| AIAE 22l & Fhl 99,448 200,000 100,552
401 AlZHIZ SO 99,448 200,000 100,552
01 A28l 98,560 198,560 100,000
Ot NsSdS2AIAE & 98,560
03 A& CHYI 888 1,440 ADB52
Ol ate NSSHSEALE EX
98,560,000 0. %% 888
o= PAIS (SSAIE A5HA) 2,915,000 2,915,000
401 AIZHIZL S OHE 2,915,000 2,915,000
01 AlZH| 2,904,506 2,904,506
O=SA0Hd HE=STAE (2RHE)
2,904,506,000& 2,904,506
03 Al 20HHI 10,494 0 10,494
O=SA0H HES2AE (2RH2)
2,915,000, 0002 +0.36% 10,494
TEE MRz SEXNH 1,432,890 0 1,432,890
301 LEtE NS 1,432,890 1,432,890
14 J|EIE2 &S 1,432,890 1,432,890
O=8E s SEXNE
8,845% x 122 %13, 500 Al TH 1,432,890
B HWB-EHSH T HEFY 2,000,000 1,000,000 1,000,000
401 AlZHIZ SO 2,000,000 1,000,000 1,000,000
01 AlZ8| 1,992,800 996,400 996,400
B HEEHS2H E2 SHEH 1,992,800
03 Al 20HHI 7,200 3,600 3,600
Offis= M-S &2 21y
2,000,000,0002%0. 36% 7,200
sFaeldie 29 1,395,240 1,392,000 3,240
307 el2to| & 1,395,240 1,392,000 3,240
05 212t =S 1,395,240 1,392,000 3,240
OaZTAIE 82t 2§ 1,395,240
gae HERE 00A 1,764,000 0 1,764,000
401 Al HIZL S 0HHI 1,764,000 1,764,000
01 AlZ8| 1,564,000 1,564,000
Ogde HEREAS 1,564,000
02 Zeld| 200,000 0 200,000
Ogde HEmEAE 200,000
(Gla1L]] 30,569 31,464 A8
801 ofielH 30,569 31,464 A8%
02 Kol - = 0lHI8 30,569 31,464 A8




SA =N A
Q

Ha: XS 2 Folx
d

Chol: RIF KX AIS AL (2 F K| XH A& AIATS ) (Crel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
||| Omish - == oibis) 30,569
ws=sX #E 2 UsNHE XA 1,911,853 1,968,031 N56,178
W2 L HFE NS (XA ALMAE) 1,911,853 1,968,031 N56,178
St Raa4 708,931 708,931 0
308 XXM SOIH 708,931 708,931 0
08 w=J| 202X 708,931 708,931 0
O=x - S5=u RaaA A3H X2 708,931
w=J|2 k& 800,000 1,140,000 340,000
308 XHXIEMSOIH 800,000 1,140,000 A340,000
08 W=J| 202 & 800,000 1,140,000 340,000
A=0MEHH 28 NH 130,000
OgZSA 2] B =2 N 50,000
OU=s sd sotel =29 20,000
OJ0e ol EX At 2¢E
(45,000,0002 *1124 }+(:2 € HI5,000,0002 *1H
) 500,000
OS43 D () 100,000
St W=l X3 182,922 119,100 63,822
301 eEtE N = 4,500 6,000 1,500
14 JIEt2 a3 4,500 6,000 21,500
OF - 08t Al w=H| X (2428t)
300,000 %15 4,500
308 XXM SOIH 178,422 113,100 65,322
08 wW=J| 202X 178,422 113,100 65,322
OF - NSsin A n=H| X2 (2Lt
) 314,000 x786% *50% 123,402
OF - 1sstu Mgl HF=H A2
70,0002 +786% 55,020
oligigl 220,000 0 220,000
801 OiIHIBI 220,000 0 220,000
B URE==E=s 220,000 0 220,000
Oul=Jl2 XEAMH 220,000
sgsE SA =25 & XY 3,080,000 2,040,000 1,040,000
sSgsZE =X 35 2 N2 (EXATZAILMAS) 3,080,000 2,040,000 1,040,000
sYsE 253 g € X 3,080,000 2,040,000 1,040,000
301 LEetE N = 2,000,000 1,500,000 500,000
14 DBt 2 a3 2,000,000 1,500,000 500,000
Ol s K& 200,000 *10,000ha 2,000,000
307 21201 & 1,080,000 540,000 540,000
02 LB AANHEE 1,080,000 540,000 540,000
Odl galls sS2Mdl X2
90,0002 *12,000ha 1,080,000
HeEs(O1=0AA) 716,000 1,516,000 A800,000
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JIEOfl &t
HRES (D120l AHAS

~

Sl LHRHHXZS (R E XA T2 AL HIAY) (St &)
2 - IE

SA - B - SA(SH) - MRA - BAS ol &t e HIDS
HEHAHXE(REXLDTRAAI L HAL) 716,000 1,516,000 800,000
Bt & 716,000 1,516,000 800,000
(VAP TSE= 716,000 716,000 0
0 JIsdEsS 716,000 716,000 0

OdEdII=Z M= 716,000




